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POLITY 

1. Which of following languages were inserted in the Eighth Schedule by the 
92nd Constitutional Amendment Act of 2003? 
A. Konkani, Maithili, Santhali, Dogri 
B. Bodo, Dogri, Santhali, Nepali  
C. Bodo, Dogri, Maithili, Santhali 
D. Kashmiri, Manipuri, Urdu, Sindhi 
2003Mk; Mz;by; nfhz;Ltug;gl;l 92tJ murpayikg;G rl;ljpUj;jj;jpd; 
%ykhf vl;lhtJ ml;ltizapy; ,izf;fg;gl;l nkhopfs; vit? 
A. nfhq;fdp> ikjpyp> rhe;jhyp> Nlhf;hp 
B. NghNlh> Nlhf;hp> rhe;jhyp> Neghsp 
C. NghNlh> Nlhf;hp> ikjpyp> rhe;jhyp 
D. fh~;kPh;> kzpg;g+hp> cUJ> rpe;jp 
 

2. The present system of recruitment to higher civil services in India is based on 
the recommendations of which of the following committees / commissions? 
1. Sathish Chandra Committee  2. Lee Commission 
3. Kothari Committee    4. Aitchison Commission 
5. Macaulay Committee  
A. 1, 3 and 5  B.  1 and 3  C.  1, 3, 4 and 5 D.  3 only 
,e;jpahtpy; jw;Nghija Fbikg;gzp Ml;Nrh;g;gpw;fhd Kiwia ghpe;Jiu 
nra;j FOf;fs; / Mizaq;fs; vit? 
1. rjP~; re;jpuh FO  2. yP Mizak;  3. Nfhj;jhhp FO   
4. ml;rprd; Mizak;  5. nkf;fhNy 
 

3. The institution of Lok ayuktha was created first in Maharashtra in 
A. 1970  B. 1972  C. 1973             D. 1971 
Nyhf; MAf;jh mikg;G kfhuh~;buhtpy; Kjd; Kjyhf cUthf;fg;gl;l 
Mz;L 
A. 1970  B. 1972  C. 1973             D. 1971 
 

4. The Chief Election Commissioner is appointed by whom? 
A. Parliament   B. Minister of Parliamentary Affairs  
C. President   D. Chief Ministers of all states 
jiyik Njh;jy; Mizah; ahuhy; epakpf;fg;gLfpwhh;? 
A. ghuhSkd;wk;   B. ghuhSkd;w tptfhuj;Jiw mikr;rh; 
C. FbauR jiyth;  D. midj;J khepy Kjyikr;rh;fs; 
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5. The annual  report of the Comptroller and Auditor General of India is 
scrutinized in detail by  
A. Public Accounts Committee    
B. B.  Estimate Committee 
C. Consultative Committee on expenditure 
D. Select Committee on expenditure 
,e;jpa jiyik fzf;F kw;Wk; jzpf;if mjpfhhpapd; tUlhe;jpu mwpf;if 
ve;j FOtpd; Ma;tpw;F mDg;gg;gLfpwJ? 
A. nghJfzf;Ff;FO   B. kjpg;gPl;Lf;FO 
C. nrytPdf; fye;jha;Tf;FO D. nrytPdq;fSf;fhd Njh;Tf;FO 
 

6. The bonded labour system was abolished in India from  
A. 25th October 1975   B. 25th November 1976 
C. 25th November 1977  D. 25th November 1978 
,e;jpahtpy; nfhj;jbik Kiw xopf;fg;gl;l ehs; 
A. 25 mf;Nlhgh; 1975   B. 25 etk;gh; 1976 
C. 25 etk;gh; 1977   D. 25 etk;gh; 1978 
 

7. Which article assured equality before law? 
A. 14-18     B. 19 – 22  C. 23-24        D. 25-28 
ve;j ml;ltiz rl;lj;jpd; Kd; midtUk; rkk; vd;gij 
cWjpg;gLj;JfpwJ? 
A. 14-18     B. 19 – 22  C. 23-24        D. 25-28 
 

8. Which Article of the constitution accords special status to the state Jammu 
and Kashmir?  
A. 356      B. 370  C. 371         D. 350 
murpayikg;gpd; ve;j ml;ltiz [k;K-fh~;kPUf;F rpwg;G me;j];ij 
toq;fpAs;sJ? 
A. 356      B. 370  C. 371         D. 350 

 
9. Math the following  

List I (Schedules)           List II (Provisions) 
a. Sixth schedule     1. Administration and control of scheduled 

areas and scheduled tribes 
b. Second schedule     2. Administration of tribal areas in states of Assam, 

Meghalaya, Tripura, Mizoram 
c. Twelfth schedule    3. Provisions as to the speaker and deputy speaker 
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of state legislative assemblies 
d. Fifth schedule       4. Powers, authority and responsibilities of 

municipalities 
5. Powers, authority and responsibility of Panchayats. 

a b c d 
A.      1 3 4        2 
B.      1 2 5        3  
C.   2 3 4        1 
D.     2 3 5        1 
nghUj;Jf 
ml;ltizfs;   mk;rq;fs; 
a. MwhtJ ml;ltiz  1. ml;ltiz gFjpfs; kw;Wk; goq;Fbapdh; 
     kPjhd eph;thfk; kw;Wk; fl;Lg;ghL 
b. ,uz;lhtJ ml;ltiz 2. m];]hk;> Nkfhyah> jphpGuh> kpNrhuk;  

Mfpa khepyq;fspd; goq;Fbapdh; gFjpfis 
eph;tfpj;jy; 

c. gd;dpnuz;lhtJ  3. khepy rl;lg;Nguitfspd; rghehafh; kw;Wk; 
ml;ltiz    Jiz rghehafh; njhlh;ghd mk;rq;fs; 
d. Ie;jhtJ ml;ltiz 4. efuhl;rpfspd; mjpfhuq;fs; kw;Wk; nghWg;Gfs; 
     5. gQ;rhaj;Jfspd; mjpfhuq;fs; kw;wk;  

nghWg;Gfs; 
a b c d 

A.      1 3 4        2 
B.      1 2 5        3  
C.   2 3 4        1 
D.     2 3 5        1 

 
10. Articles 323 A and 323 B of Indian Constitution deals with 

A. Centre-State Sharing of Financial resources 
B. Empowering Parliament and State legislatures to setup by law, 

administrative Tribunals 
C. Central and State Services 
D. Change in Union and State list 
,e;jpa murpayikg;G tpjp 323A kw;Wk; 323 B Mfpait $WtJ 
A. kj;jpa khepy epjp Mjhuq;fisg; gfph;jy; 
B. ghuhSkd;wk; kw;Wk; rl;lkd;wq;fs; rl;lg;gb eph;thfj; jPh;g;ghaq;fis 

mikf;f mjpfhukspj;jy; 
C. kj;jpa kw;Wk; khepyg;gzpfs; 
D. kj;jpa kw;Wk; khepyg; gl;baypy; khw;wq;fs; nra;jy; 
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11. Which commission committee recommended language as the basis of 
reorganisation of states? 
A. Fazl Ali Commission  B. Dhar Commission 
C. JVP Committee                   D. Sarkaria Commission 
nkhopia mbg;gilahf nfhz;L khepyk; mikf;fyhk; vd;W ve;j Mizak; 
,e;jpa murhq;fj;jpw;F ghpe;Jiuj;jJ? 
A. /ghry; myp Mizak;  B. jhh; Mizak; 
C. JVP FO    D. rh;f;fhhpah Mizak; 

 
12. Public accounts committee consists of 

A. 22 members         B. 20 members 
C. 15 members              D. 45 members 
nghJ fzf;Ff;FOtpd; cWg;gpdh; vz;zpf;if 
A. 22 cWg;gpdh;fs;  B. 20 cWg;gpdh;fs; 
C. 15 cWg;gpdh;fs;  D. 45 cWg;gpdh;fs; 

 
13. In which Constitutional Amendment Act, the parliament sought to check the 

tendency of defection (Anti-Defection Law)? 
A. 42nd Amendment Act      B. 44th Amendment Act 
C. 53rd Amendment Act                  D. 52nd Amendment Act 
fl;rpj;jhty; jilr;rl;lk; ve;j murpayikg;G jpUj;jj;jpd; %yk; nfhz;L 
tug;gl;lJ? 
A. 42tJ rl;lj;jpUj;jk;   B. 44tJ rl;lj;jpUj;jk; 
C. 53tJ rl;lj;jpUj;jk;   D. 52tJ rl;lj;jpUj;jk; 
 

14. When was the first Lok Sabha held its first meeting after its constitution?  
A. 11th May 1952       B. 13th May 1952 

C. 15th May 1952                  D. 21st May 1952 
KjyhtJ kf;fsit mikf;fg;gl;l gpwF mjd; Kjy; $l;lk; vg;nghOJ  
eilngw;wJ? 
A. Nk 11> 1952   B. Nk 13> 1952 
C. Nk 15> 1952   D. Nk 21> 1952 
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HISTORY 
 

15. Who was the first Law Minister of Independent India? 
A. Nehru                                B. Ambedkar 
C. Madan Mohan Malaviya        D. Sardar Vallabhai Patel 

 Rje;jpu ,e;jpathpd; Kjy; rl;l mikr;rh; ahh;? 
 A. NeU     B. mk;Ngj;fh; 
 C. kjd;Nkhfd; khstpah  D. rh;jhh; ty;ygha; gl;Nly; 
 
16. The Regulating Act provided for the establishment of a Supreme Court at 

A. Fort William          B. Fort St. David 
C. Fort St. George                D. Fort Jinjee     
xOq;FKiwr; rl;lk; cr;rePjpkd;wk; ve;j ,lj;jpy; mikf;fg;gLk; 
vdf;$wpaJ? 
A. tpy;ypak; Nfhl;il   B. Gdpj Nltpl; Nfhl;il 
C. Gdpj [hh;[;Nfhl;il  D. nrQ;rp Nfhl;il 
 

17. Which Act curbed the freedom of publication? 
A. Indian Universities Act    B. Official Secrets Act 

C. Councils Act of 1892   D. Vernacular Press Act 
ve;j rl;lk; gj;jphpf;if Rje;jpuj;ij jil nra;jJ? 
A. ,e;jpa gy;fiyf;fofq;fs; rl;lk; B. mYtyf ufrpa rl;lk; 
C. ,e;jpa fTd;rpy; rl;lk; 1892  D. jha;nkhop gj;jphpf;if rl;lk; 

18. During the Muhal period, the officer in charge of the Naval boats was called  
A. Mir-e-Atish      B. Mir-e-Bahar 

C. Bandukchi                  D. Gazi 
Kfyhah; Ml;rpfhyj;jpy; fg;gw;gil glFfspd; nghWg;ghsh; 
A. kph;-,-mjp];   B. kp-,-ghfh; 
C. gz;Jf;rp   D. fh[p 

 
19. Who founded the Namdhar is movement? 

A. Baba Ram Singh          B. Balak singh 
C. Guru Gobind Singh         D. Guru Nanak 
ehk;jhhp ,af;fj;ijj; Njhw;wtpj;jth; ahh;? 
A. ghghuhk; rpq;    B. ghyf;rpq; 
C. FU Nfhtpe;j; rpq;   D. FU ehdf; 

  
20. The first European who declared that there existed a definite relation 

between Sanskrit and some of the principal languages of Europe was 
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A. Sir William Jones                     B. P. Giles 
C. Fillippo Sassetti                        D. Alexandar Canningham 
“Kjd;ikahd INuhg;gpa nkhopfs; rpytw;Wf;F rk];fpUj nkhopAld; 
fz;lbg;ghf njhlh;G cs;sJ” vdf;$wpa Kjy; INuhg;gpah; 
A. rh; tpy;ypak; N[hd;];  B. P. fpy;]; 
C. gpypg;Ngh rhnrl;b   D. mnyf;rhz;lh; fd;dpq;fhk; 
 

21. The original Jain religious texts were called 
A. Agam      B. Puram  C. Story                           D. Song 
mry; rkz rka E}Y;fs; vt;thW miof;fg;gl;ld? 
A. mfk;   B. Gwk;  C. fij   D. ghl;L 
 

22. Match the fol owing with suitable options in List I and List II : 
List I                                                      List II 
(Academy)                                              (Year) 
a. Sangeet Natak Academy           1. 1957 
b. Lalit Ka la Academy                   2. 1959 
c. National School of Drama         3. 1954 
d. National Book Trust of India    4. 1953 
 a b c d 
A.     4 3 1        2 
B.      2 4 3        1 
C.  1 2 4        3 
D.      3 1 2        4 
nghUj;Jf 
mflhkp      Mz;L 
a. rq;fPj ehlf rig    1. 1957 
b. yypj;fyh mfhlkp    2. 1959 
c. Nrpa ehlf gs;sp    3. 1954 
d. Njrpa E}y; tsh;r;rp fofk;  4. 1953 
 a b c d 
A.     4 3 1        2 
B.      2 4 3        1 
C.  1 2 4        3 
D.      3 1 2        4 
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23. Which year the Panchsheel was first embodied in a treaty signed by India 
and China?  
A. 1949      B. 1945  C. 1952     D. 1954 
,e;jpah kw;Wk; rPdh ifnaOj;jpl;l gQ;rrPy xg;ge;jk; ve;j Mz;L 
cUthdJ? 
A. 1949      B. 1945  C. 1952     D. 1954 

 
24. A Hindu Girls school was opened for the first time in Calcutta in the year  

A. 1849      B. 1850  C. 1851                 D. 1852 
Kjd;Kjyhf fy;fj;jhtpy; ngz;fSf;fhd ,e;J gs;sp njhlq;fg;gl;l Mz;L 
A. 1849      B. 1850  C. 1851                 D. 1852 
 

25. Which of the following sultants maintained the newly created department of 
slaves? 
A. Iltumish    B. Allauddin-Khilji 
C. Giyasudin Tughlaq   D. Firoz Tughlaq 
fPo;f;fhZk; Ry;jhd;fspy; mbikfis guhkhpg;gjw;nfd;W Gjpa Jiwapid 
cUthf;fpath; ahh;? 
A. ,y;l;Lkp];    B. myhTjpd; fpy;[p 
C. fpahRjPd; Jf;sf;   D. gpNuh]; Jf;sf; 
 

26. Which was the largest administrative division during the Vijayanagara 
period?  
A. Kottam       B. Nadu  C. Kurram                   D. Mandalam 

 tp[aefug; Nguurpd; kpfg;nghpa eph;thfg; gphpT vJ? 
 A. Nfhl;lk; B. ehL  C. Fh;uk;   D. kz;lyk; 

 
27. Mahalwari Tenure system was first introduced in, 

A. Punjab     B. Agra   C. Madras            D. Bombay 
 k`y;thhp tptrha Kiw Kjy; Kjypy; Jtq;fg;gl;lJ vq;F? 
 A. gQ;rhg;   B. Mf;uh  C. nrd;id  D. Kk;ig 
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GEOGRAPHY 
 

28. In Koppen's Climatic classification ‘Af' refers to the climate of 
A. Tropical wet and dry  B. Tropical wet 
C. Tropical monsoon  D. Subtropical Steppe 
Nfhg;gdpd; fhyepiy tifg;ghl;by; ‘Af’ vd;W Fwpg;gpLk; fhyepiy tif 
A. madkz;ly <u kw;Wk; twz;l B. madkz;ly <ug;gj 
C. madkz;ly gUtf;fhw;W  D. cg madkz;ly ];nlg;gp 
 

29. The delta of which river is known as Sundarban delta? 
A. Cauvery         B. Ganga  C. Narmada            D. Godavari 

 ve;ejpapd; nly;lh Re;jh;ghd; nly;lh vd;wiof;fg;gLfpwJ? 
 A. fhNthp  B. fq;if  C. eh;kij   D. Nfhjhthp 
 
30. The largest coral reef in the world is found near the coast of 

A. Australia     B. Cuba  C. Ghana      D.  Philippines 
cyfpd; kpfg;nghpa gtsg;ghiw fhzg;gLk; flw;fiu gFjp vJ? 
A. M];jpNuypa flw;fiu  B. fpa+gh flw;fiu 
C. fhdh flw;fiu   D. gpypg;igd;]; flw;fiu 
 

31. Match the following  
Multi purpose projects              Rivers 
(Dams) 
a. Hirakud                            1. Kaveri 
b. Mettur                               2. Mahanadi 
c. Tehri                                  3. Narmada 
d. Sardar Sarovar                 4. Bahirathi 

a b c d 
A. 2     1 4        3 
B.      1 2 3        4 
C. 1 3 4       2 
D.      4 1 3        2 

 nghUj;Jf 
 gy;Nehf;F jpl;lk; (miz)  MWfs; 
 a. `puhFl;     1. fhtphp 
 b. Nkl;^h;     2. kfhejp 
 c. nl`;hp     3. eh;kij 
 d. rh;jhh; rNuhth;   4. ghfpujp 
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a b c d 
A. 2     1 4        3 
B.      1 2 3        4 
C. 1 3 4       2 
D.      4 1 3        2 
 

 
ECONOMICS 

 

32. The 20 - Point Programme was introduced in India is 
A. July-1975                 B. July-1976 
C. August - 1975        D. August – 1976 
,e;jpahtpy; 20 mk;rj;jpl;lk; mwpKfg;gLj;jg;gl;l Mz;L  
A. [_iy 1975   B. [_iy 1976 
C. Mf];l; 1975   D. Mf];l; 1976 
 

33. What is the r lain interest of monopolist?  
A. Maximization of profit 
B. Maximization of Commodity 
C. Perfect competition 
D. Constant cost condition 

 Kw;Whpikahshpd; Kjd;ikahd Nehf;fk; vd;d? 
 A. mjpfgl;r ,yhgk;   B. mjpfgl;r ruf;F 
 C. KOikahd Nghl;b  D. epiyahd nryT epiy 
 
34. Who initiated operation Blackboard? 

A. Nehru               B. Indira Gandhi 
C. Rajiv Gandhi                 D. Narasimha Rao 

 fUk;gyif jpl;lj;jpid Kd;ndLj;jth; 
 A. NeU    B. ,e;jpuhfhe;jp 
 C. uh[{t;fhe;jp   D. eurpk;kuht; 
 
35. The state with lowest density of population in India as per 2011 census is  

A. Meghalaya      B. Arunachala Pradesh 
C. Nagaland                 D. Himachal Pradesh 
2011Mk; mz;bd; kf;fl;njhif fzf;nfLg;gpd;gb kpff;Fiwe;j 
kf;fslh;j;jpia nfhz;l ,e;jpa khepyk; 
A. Nkfhyah  B. mUzhr;ry gpuNjrk; 
C. ehfhyhe;J  D. ,khr;ry gpuNjrk; 
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36. When did the planning commission renamed as NITI Aayog? 
A. 01-01-2015          B. 11-01-2015 C. 21-01-2015         D. 31-01-2015 
jpl;lf;FOthd „epjp MNahf;‟ vd vg;nghOJ ngah; khw;wk; nra;ag;gl;lJ? 
A. 01-01-2015      B. 11-01-2015 C. 21-01-2015         D. 31-01-2015 

 
37. According to the census of 2011, the literacy percentage in Tamilnadu is  

A. 80.3    B. 60.3  C. 70.3                 D. 75.3 
2011Mk; Mz;L fzf;nfLg;gpd; gb jkpo;ehl;by; fy;tp fw;wth;fspd; tpOf;fhL 
A. 80.3    B. 60.3  C. 70.3                 D. 75.3 

 
38. The Reserve Bank of India has the sole right to issue bank notes of all 

denomination under the Section ______________of RBI Act. 
A. 22    B. 23  C. 24                  D. 26 
,e;jpa ika tq;fp tpjp ________ d; gb ika tq;fpf;F vy;yh tifahd 
gz Nehl;LfisAk; ntspapLk; jdpg;ngWk; mjpfhuk; cs;sJ 
A. 22    B. 23  C. 24                  D. 26 

 
39. The monthly average wholesale prices Index number is the 2011—12 is 

_____________ [as base 2004-05 = 100] 
A. 156.1     B. 143.3   C. 130.8                D. 116.6 
khjhe;jpu ruhrhp nkhj;j tpw;gid tpiy FwpaPlhdJ __________ Mf 2011-
12y; ,Ue;jJ (2004-05 = 100 mbg;gil Mz;L) 
A. 156.1     B. 143.3   C. 130.8                D. 116.6 

 
 

BOTANY 
 

40. Aquatic   plants   lost   most   of their   metabolic   wastes   by_____________ 
in their surroundings. 
A. Evaporation 
B. Combine with ions and precipitation  
C. Direct diffusion 
D. Periodic removal as their parts fall off 
ePh;tho;j; jhtuq;fis jkJ mNef tsh;rpij khw;wf; fopTfis _____ %yk; 
mtw;wpd; Rw;Wg;Gwj;jpy; ,of;fpwJ 
A. Mtpahjy; %yk; 
B. madpfSld; Nrh;e;J vwptjd; %yk; 
C. Neubahd guty; %yk; 
D. fhy ,ilntspapy; mtw;wpd; ghfq;fs; fPNo tpOtjd; %yk; 
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ZOOLOGY 
 

41. In normal persons, the blood plasma will not contain this ion.  
A. Mercury  B. Sodium  C. Calcium                   D. Magnesium 
Nehaw;wthpd; ,uj;j gpsh];khtpy; ,e;j madp fhzg;glhJ 
A. nkh;f;Fhp B. Nrhbak; C. fhy;rpak;  D. nkf;dprpak; 
 

42. Progesterone hormone is secreted by  
A. Corpus luteum  B. Pituitary gland 
C. Pineal gland   D. Placenta 
g;Nuhn[];l;buhd; `hh;Nkhd; ___________ y; Ruf;fpd;wJ 
A. fhh;g;g]; Y}l;bak;  B. gpl;a+l;lhp Rug;gp 
C. gpdpay; Rug;gp  D. jha;-Nra; ,izg;G jpR 
 

43. Energy centre of a sperm is 
A. Middle piece    B. Head  C. Tail     D. Entire Sperm 
xU tpe;J nry;ypd; Mw;wy; ikakhf ,Ug;gJ 
A. eLg;gFjp  B. jiy  C. thy; D. KO tpe;J 

 
44. The    cell wall formation begins at the telophage stage of the cell division 

fine granular structure called as                                                 
A. Plasma desmata    B. Phragmoplast 
C. Symplast                     D. Apo plast 
nry; Rth; cUthFk; NghJ BNyhNg[; epiyapy; nry; gFg;gilAk; NghJ 
Njhd;Wk; rpWkzp Nghd;w mikg;gpw;F 
A. gpsh];kh nl];Nkl;lh  B. gpuhf;Nkhgpsh];l; 
C. rpk;gpsh];l;    D. mNgh gpsh];l; 

 
45. Mature graffian follicle is generally present in the ovary of healthy human 

female around  
A. 5 — 8 days of menstrual cycle  B. 11-17 days of menstrual cycle 
C. 18 - 23 days of menstrual cycle D. 24 - 28 lays of menstrual cycle 
Kjph;e;j fUg;ig Ez;ziw nghJthf xU MNuhf;fpakhd ngz;kzpapd; 
fUg;igapy; vj;jid ehs; ,Uf;Fk;? 
A. khjtplha; Row;rpapd; 5 – 8 ehs;  
B. khjtplha; Row;rpapd; 11 – 17 ehs; 
C. khjtplha; Row;rpapd; 18 – 23 ehs; 
D. khjtplha; Row;rpapd; 24 – 28 ehs; 
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46. Which year, Dolly the sheep was born, the first mammal to be cloned from 
an adult cell?  
A. 1994       B. 1995  C. 1996        D. 1997 
%jhijahhpd; nry;ypypUe;J gbnaLg;G Kiwapy; cUthf;fg;gl;l Kjy; 
ghY}l;b tpyq;F> Nlhyp vd;fpw ML gpwe;j Mz;L vJ? 
A. 1994       B. 1995  C. 1996        D. 1997 

 

47. Electroencephalography (EEG) is a study about?  
A. Brain  B. Heart   C. Lungs  D. Liver 
vyf;l;NdhnrghNyhfpuhgp my;yJ <<[p vd;gJ vijg; gw;wpa gbg;G? 
A. %is  B. ,jak;  C. EiuaPuy; D. fy;yPuy; 

 
48. A problem with development of Red blood cell called as 

A. Anemia                         B. Polycythemia 
C. Dyserythropoiesis              D. Yolk sac 
,uj;j rptg;G mZf;fs; cUthtjpy; Vw;gLk; gpur;ridapdhy; tUk; ghjpg;G 
vd;d? 
A. mdPkpah    B. ghypirj;Njkpah 
C. ilrh;j;NuhNgh[p];   D. Nahf; rhf; 

 

49. The first person who produced induced mutation was 
A. Hugo De Vries    B. T.H.Morgan 
C. Mendel                     D. H.J. Muller 

 J}z;lg;gl;l jpBh; khw;wj;ij Kjypy; Vw;gLj;jpath; ahh;? 
 A. `+A+Nfh b tphp];  B. b.vr;.khh;fd; 
 C. nkz;ly;   D. vr;.n[.Ky;yh; 
 
50. Most of the energy during aerobic respiration is produced by the  

A. Electron transport chain B. Glycolysis 
C. Kreb's cycle    D. Pyruvic acid oxidation 

 fhw;Wr; Rthrj;jpy; mNef msT Mw;wy; ,jpy; cw;gj;jp nra;ag;gLfpwJ 
 A. vyf;l;uhd; flj;jy; rq;fpyp B. ,dpg;G gpsj;jy; 

C. fpnug; Row;rp    D. igUtpf; mkpy Mf;rp[Ndw;wk; 
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CHEMISTRY 

 
51. Select correctly matched pairs : 

1. Mercury       - Cinnabar 
2. Aluminium      - Bauxite 
3. Titanium          - Limonite 
4. Iron                   - Heamatite 
A. 1, 2, 3 and 4  B. 2, 3 and 4  C.     1, 2 and 4  D. 1, 2 and 3 

 gpd;tUk; rhpahf nghUj;jg;gl;l ,izia Njh;e;njLf;f 
 1. nkh;Fhp   - rpd;dghh; 
 2. mYkpdpak;  - ghf;irl; 
 3. ill;lhdpak;  - ypNkhidl; 
 4. ,Uk;G   - N`kill; 
 A. 1, ,2, 3 kw;Wk; 4  B. 2, 3 kw;Wk; 4  

C. 1, 2 kw;Wk; 4   D. 1, 2 kw;Wk; 3 

 

52. Oxidation number of Mn in KMnO4 is 
A. 6  B. 7  C. 5  D. 2 
KMnO4-y; Mn–d; Mf;rp[Ndw;w vz; vd;gJ 
A. 6  B. 7  C. 5  D. 2 

  
53. The isoelectric point of an amino acid is the 

A. pH at which no net migration occurs during electrophoresis 
B. pH at which all the functional groups are protonated 
C. same as the pka for that acid  
D. all of the above 
mkpNdh mkpyj;jpy; cs;s INrh vyf;l;hpf; Gs;sp 
A. kpd;Kidf; fth;r;rpapd; NghJ pH-y; ve;j efh;Tk; Vw;gLtJ ,y;iy 
B. pH midj;J tpid nray; njhFjpfSk; GNuhl;lhd; Vw;wk; ngWk; 
C. mkpyj;jpd; pka-d; kjpg;G xd;whf ,Uf;Fk; 
D. midj;Jk; 
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PHYSICS 
 

54. Reactor in Kalpakkam is 
A. hydro-carbon reactor  B. nuclear fusion reactor  
C. breeder reactor   D. induction furnace 

 fy;ghf;fj;jpy; mike;Js;s mZ ciy 
 A. i`l;Nuh-fhh;gd; mZ ciy   

B. mZf;fU ,izT mZ ciy 
 C. cw;gj;jp ciy     

D. Jz;L mLg;G 
 

55. Which is used as moderator? 
A. H2O    B. D2O  C. T2O           D. H2O2 

 kpjkhf;fpakhfg; gad;gLtJ? 
A. H2O    B. D2O  C. T2O           D. H2O2 

 
56. The value of escape velocity in the earth is______________ 

A. 1.12 km/s     B. 11.2 m/s 
C. 11.2 sm/s                 D. 1.12 m/s 
Gtpapy; tpLgL jpirNtfj;jpd; kjpg;ghdJ __________ MFk; 
A. 1.12 km/s     B. 11.2 m/s 
C. 11.2 sm/s                 D. 1.12 m/s 
 

57. The net work done by the forces acting on a body is equal to the change in its  
A. Kinetic energy     B. Potential energy 
C. Kinetic energy and potential energy D. Momentum 
xU nghUspd; nray;gLk; tpirfshy; nra;ag;gLk; epfu Ntiy mjd; 
fPo;f;fz;l gz;gpy; Vw;gLk; khw;wj;jpw;Fr; rkk; 
A. ,af;f Mw;wy;     B. epiyahw;wy; 
C. ,af;f Mw;wy; kw;Wk; epiyahw;wy;  D. ce;jk; 

 
58. In an optical fiber communication, the light is guided through the fiber by 

the principle of 
A. refraction  B. diffraction 
C. dispersion  D. total internal reflection 
Xsp ,ioj; jfty; njhlh;gpy; xspahdJ ,ioj;jz;bd; topNa mDg;gg;Lk; 
jj;Jtk; 
A. xsptpyfy;  B. tpspk;G tpisT 
C. xspg;gphpif  D. KO mf vjpnuhypg;G 
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GENERAL KNOWLEDGE 
 

59. Match List I with List II and answer through the code given below  
List I                                     List II 
a. P.V. Sindu                          1. Wrestler 
b. Marykom                           2. Javelin throw 
c. Sakshi Malik                     3. Badminton 
d. Neeraj Chopra                 4. Boxer 

a b c d 
A.      2 3 4        1 
B.      3 1 4        2 
C.     2 4 1  3  
D.     3 4 1        2 
nghUj;Jf 
a. gp.tp. rpe;J   1. ky;Aj;jk; 
b. NkhpNfhk;   2. <l;b vwpjy; 
c. rhf;~p khypf;   3. Ngl;kpd;ld; 
d. ePu[; Nrhg;uh   4. Fj;Jrz;il 

a b c d 
A.      2 3 4        1 
B.      3 1 4        2 
C.     2 4 1  3  
D.     3 4 1        2 
 

60. In which country, Forint currency is used? 
A. Hungary   B. Iceland  C. Guyana          D. Haiti 
/Nghh;idl; ehzaj;ij gad;gLj;Jk; ehL vJ? 
A. `q;Nfhp B. I];Nyz;l; C. fahdh  D. n`a;b 

  
61. Which year "Come and Play Scheme" was introduced by sports Authority of 

India?  
A. 2009    B. 2010  C. 2011       D. 2012 
,e;jpa tpisahl;L Nkk;ghl;L Mizak; “te;J tpisahL” jpl;lj;ij ve;j 
Mz;L mwpKfg;gLj;jpaJ? 
A. 2009    B. 2010  C. 2011       D. 2012 
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62. The first Indian satellite was launched with the help of 
A. America        B. Russia  C. Britain            D. France 
,e;jpahtpd; Kjy; nraw;ifNfhs; ve;j ehl;bd; cjtpAld; nrYj;jg;gl;lJ? 
A. mnkhpf;fh B. u~;ah  C. gphpl;ld;  D. gpuhd;]; 

 
63. Match the following and choose the correct answer 

Political Parties                                     Leaders 
a. Assam Gana Parishad (AGP)      1. Mulam Singh Yadav 
b. Shiromani Akali Dal (SAD)         2. Uddhav Thackery 
c. Shiva Sena                                    3. Sukhbir Singh Badal 
d. Samajwadi Party (SP)                  4. Prafulla Kumar Mahanta 

a b c d 
A.     4  3 2        1 
B.      3    2 1 4 
C.      4 1 2        3 
D.      3 1 2        4 

 nghUj;Jf 
 murpay; fl;rp     jiyth; 
 a. mrhk; fd ghprj;    1. Kyhak; rpq; ahjt; 
 b. rpNuhkdp mfhyp jsk;   2. cj;jt; jhf;fNu 
 c. rptNrdh     3. Rf;gph; rpq; ghjy; 
 d. rkh[;thb fl;rp    4. gpuGy;y Fkhh; kfe;jh 

a b c d 
A.     4  3 2        1 
B.      3    2 1 4 
C.      4 1 2        3 
D.      3 1 2        4 
 

64. Demonetisation was announced by Mr. Narendra Modi on  
A. 8th November 2015  B. 8th November 2016 
C. 8th November 2017  D. 1st December 2017 
jpU.eNue;jpuNkhb mth;fshy; gz kjpg;G ,og;G mwptpf;fg;gl;l ehs; 
A. 8 etk;gh; 2015  B. 8 etk;gh; 2016 
C. 8 etk;gh; 2017  D. 1 brk;gh; 2017 

 

65. On which day the Government of India announced the High Denomination 
bank notes of Rs. 500 and Rs. 1000 expired? 
A. 8th November, 2016   B. 9th November, 2016 



 

18 | Page www.appolotraining.com             PH: 044-42867555, 24339436, 9840226187 
 

C. 10th November, 2016   D. 11th November, 2016 
ve;j ehspy; cah;epiy newpKiw tq;fpf;Fwpg;Gfs; gb &.500 kw;Wk; &.1000 
Nehl;Lfs; epuhfhpf;fg;gLtjhf ,e;jpa murhq;fk; mwptpj;jJ? 
A. 2016Mk; Mz;L etk;gh; 8  B. 2016Mk; Mz;L etk;gh; 9 
C. 2016Mk; Mz;L etk;gh; 10  D. 2016Mk; Mz;L etk;gh; 11 
 

66. In which country, the "World's oldest boarding school" established in 1567?  
A. England     B. India  C. America          D. German 
1567Mk; Mz;L cyfpd; kpfg;goikahd jq;Fk; gs;sp vq;F epWtg;gl;lJ? 
A. ,q;fpyhe;J B. ,e;jpah  C. mnkhpf;fh  D. n[h;kdp 

 
67. When was the Goods and service tax introduced?  

A. 1st June 2017   B. 1st July 2017 

C. 1st August 2017  D. 1st September 2017 
 ruf;F kw;Wk; Nrit thp vg;NghJ mwpKfg;gLj;jg;gl;lJ? 
 A. 2017 [_d; 1   B. 2017 [_iy 1 
 C. 2017 Mf];l; 1  D. 2017 nrg;lk;gh; 1 

 

68. Which is the 7th busiest Airport in Asia? 
A. Mumbai B. Bengaluru   C. Delhi  D. Chennai 

 Mrpahtpd; VohtJ gug;gug;ghd tpkhd epiyak; vJ? 
 A. Kk;ig  B. ngq;f@U  C. nly;yp  D. nrd;id 
 
69. Which year the stethoscope was invented? 

A. 1816       B. 1818 C. 1915   D. 1918 
];nljh];Nfhg; ve;j Mz;L fz;Lgpbf;fg;gl;lJ? 
A. 1816       B. 1818 C. 1915   D. 1918 
 

 
CURRENT AFFAIRS 

 
70. What type of satellite is SCATSAT-1 which was launched by (PSLV C35)? 

A. Geo – Stationary  B. Navigation 
C. Communication   D. Meteorological 
PSLV C35 %yk; Vtg;gl;l SCATSAT-1  vd;Dk; nraw;iff;Nfhs; ve;j 
tifia Nrh;e;jJ? 
A. Gtpepiy Rw;Wg;ghij B. CLUty; 
C. jfty; njhlh;G  D. thdpiy Ma;T 
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71. From where the Zika virus was first identified? 

A. Rat          B. Cat  C. Monkey            D. Donkey 
[pfh itu]; Kjypy; vq;fpUe;J fz;lwpag;gl;lJ? 
A. vyp  B. fhl;  C. Fuq;F   D. fOij 
 

72. For which age group, "National Sports Talent Search Scheme" has been 
formulated?  
A. 8-12 years     B. 13 - 17 years 
C. 18- 22 years               D. 23 - 27 years 
“Njrpa tpisahl;L jpwik Njly; jpl;lk;” vd;gJ ve;j taJ gphptpdUf;fhf 
KiwgLj;jg;gl;lJ? 
A. 8 – 12 Mz;Lfs;  B. 13 – 17 Mz;Lfs; 
C. 18 – 22 Mz;Lfs;  D. 23 – 27 Mz;Lfs; 
 

73. In which duration Indian Navy hosted Multinational Exercise MILAN-18 at 
Port Blair in Andaman and Nicobar Islands? 
A. March 6 to 13, 2018  B. February 13 to 20, 2018 
C. February 20 to 27, 2018  D. March 13 to 20, 2018 
me;jkhd; epNfhghh; jPTfs;> Nghh;l; gpNsahpy; eilngw;w “gd;dhl;L gapw;rp 
kpyd; - 18y; ,e;jpa flw;gil vg;NghJ gq;F ngw;wJ? 
A. 2018 khh;r; 6 Kjy; 13 tiu  B. 2018 gpg;uthp 13 Kjy; 20 tiu 
C. 2018 gpg;uthp 20 Kjy; 27 tiu D. 2018 khh;r; 13 Kjy; 20 tiu 
 

74. When is "Qaumi Ekta Week" (National Integration Week) observed all over 
the country every year? 
A. 29th Oct. to 4th Nov  B. 5th Nov. to 11th Nov. 
C. 12th Nov. to 18th Nov.   D. 19th Nov. to 25th Nov. 
vg;NghJ ehL KOtJk; xt;nthU Mz;Lk; “Fthkp Vf;j thuk;” (Njrpa 
xUq;fpizg;G thuk;) Nehf;fg;gLfpwJ? 
A. mf;Nlhgh; 29 Kjy; etk;gh; 4 tiu 
B. etk;gh; 5 Kjy; etk;gh; 11 tiu 
C. etk;gh; 12 Kjy; etk;gh; 18 tiu 
D. etk;gh; 19 Kjy; etk;gh; 25 tiu 
 

75. For which game Mr. Anish won the gold medal in Junior world cup during 
the year March 2018? 
A. 10 meter Air Pistol   B. 100 meter Rapid fire pistol 
C. 25 meter rapid fire pistol D. 20 meter rapid fire pistol 
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khh;r; 2018y; eilngw;w ve;j tpisahl;Lf;fhd [_dpah; cyff; Nfhg;igapy; 
mdp]; jq;fg;gjf;fk; ntd;whh;? 
A. 10 kPl;lh; Vh; gp];ly;   B. 100 kPl;lh; Nugpl; igah; gp];ly; 
C. 25 kPl;lh; Nugpl; igah; gp];ly; D. 20 kPl;lh; Nugpl; igay; gp];ly; 
 

 
MENTAL ABILITY & APTITUDE 

 
76. A and B together can do a piece of work in 8 days, but A alone can do it 12 

days. How many days would B alone take to do the same work in 
A. 24 days    B. 12 days  C. 16 days             D. 18 days 
xU Ntiyia A, B ,UtUk; Nrh;e;J 8 ehl;fspy; Kbg;gh;. A kl;Lk; 
mt;Ntiyia 12 ehl;fspy; Kbg;ghh;. B kl;Lk; mt;Ntiyia Kbf;f 
vLj;Jf;nfhs;Sk; ehl;fs; 
A. 24 ehl;fs;  B. 12 ehl;fs; C. 16 ehl;fs;  D. 18 ehl;fs; 

 
77. The graphical representation of a frequency distribution is given below : 

 
Which pair of the following pairs of classes have equal number of articles? 
A. 10 to 15 and 15 to 20   B. 10 to 15 and 35 to 40 
C. 15 to 20 and 25 to 30   D. 20 to 25 and 35 to 40 
 
epfo;ntz; gutiy gad;gLj;jpa tiuglk; fPNof; Fwpg;gplg;gl;Ls;sJ 
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NkNy nfhlf;fg;gl;Ls;stw;wpy; ve;j taJ ,ilntsp N[hb rkkhd 
vz;zpf;ifapy; nghUl;fis nfhz;Ls;sd? 
A. 10 Kjy; 15 kw;Wk; 15 Kjy; 20  
B. 10 Kjy; 15 kw;Wk; 35 Kjy; 40 
C. 15 Kjy; 20 kw;Wk; 25 Kjy; 30  
D. 20 Kjy; 25 kw;Wk; 35 Kjy; 40 
 

78. Simply 
5 4 9(3 / 8) (3 / 8) (3 / 8)   

A. 2     B. ½   C. 3                   D. 1 
RUf;Ff 

5 4 9(3 / 8) (3 / 8) (3 / 8)   

A. 2     B. ½   C. 3                   D. 1 
 

79. Simplify : 
270 : 378 
A. 5:7  B. 135 : 139  C. 45 : 63  D. 10 : 14 
270 : 378 Ir; RUf;Ff 
A. 5:7  B. 135 : 139  C. 45 : 63  D. 10 : 14 
 

80. The radius of a sector is 42 cm and its sector angle is 60°. Find its perimeter.  
A. 128 cm        B.  44 cm  C.  88 cm               D. 126 cm 
xU tl;lf; Nfhzg;gFjpapd; Muk; 42 nr.kP kw;Wk; mjd; ikaf;Nfhzk; 60° 
vdpy; mjd; Rw;wsitf; fhz;f 
A. 128 cm        B.  44 cm  C.  88 cm               D. 126 cm 
 

81. A and B together can complete a piece of work in 20 days and B alone in 30 
days. In how many days can A alone complete the work? 
A. 60         B. 50   C. 10                D. 45 
A kw;Wk; B MfpNahh; ,ize;J xU Ntiyia 20 ehspYk; kw;Wk; B kl;Lk; 
jdpahf mNj Ntiyia 30 ehspYk; Kbg;gh; vdpy; A kl;Lk; jdpahf me;j 
Ntiyia vj;jid ehspy; Kbg;ghh;? 
A. 60         B. 50   C. 10                D. 45 
 

82. In how many years will simple interest on Rs. 2500 at the rate 3% per annum 
be equal to the simple interest on Rs. 1500 in 5 yr at the rate of 7% per 
annum? 
A. 5 yr     B. 6 yr  C. 7 yr                         D. 8 yr 
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&gha; 2500f;F 3% tUl tl;bf;F jdp tl;bapy; tUk; njhifAk; &gha; 
1>500f;;F 5 tUlk; 7% (Mz;bw;F tUk; jdptl;bAk; rkk; vd;why; nkhj;j 
Mz;L vt;tsT) 
A. 5 Mz;L B. 6 Mz;L C. 7 Mz;L  D. 8 Mz;L 
 

83. The height of a tree increases every year 1/8 times. If the present height of 
the tree is 64 cm then what will be the height after 2 years? 
A. 76 cm  B. 80 cm      C. 81 cm  D. None of the above 
xU kukhdJ Mz;Lf;F 1/8 klq;F caukhfpwJ. jw;NghJ me;j kuj;jpd; 
cauk; 64 nr.kP vdpy; 2 tUlj;jpw;F gpwF me;j kuj;jpd; cauk; vt;tsthf 
,Uf;Fk;? 
A. 76 nr.kP B. 80 nr.kP  C. 81 nr.kP D. ,it VJkpy;iy 
 

84. Given below a 'e two series with specific pattern 

2 9 30 105 436 2195 

3 (a) (b) (c) (d) (e) 

What will com e in place of C.?                          
A. 106      B. 111   C. 109          D. 108 
fPNo nfhLf;fg;gl;l> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy; (c)d; 
kjpg;G ahJ? 

2 9 30 105 436 2195 

3 (a) (b) (c) (d) (e) 

A. 106      B. 111   C. 109          D. 108 
 

85. If A's monthly income is 40% more than that of B. How much percent is B's 
income less than that of A? 

A. 
4

28 %
7

  b. 
4

27 %
7

  C. 
3

25 %
7

  D. 
3

25 %
7

 

A-apd; khj tUkhdk; B-apd; khj tUkhdj;ij tpl 40% mjpfk;. vdNt  
A-apd; khjtUkhdj;ij tpl B-apd; khj tUkhdk; vt;tsT FiwT? 

A. 
4

28 %
7

  b. 
4

27 %
7

  C. 
3

25 %
7

  D. 
3

25 %
7

 

 
86. Rahul borrowed Its. 4,000 on 7th of June 2006. and Returned it on 19th 

August 2006. Find amount he p aid, if the interest is calculated at 5% per 
annum 
A. Rs. 4,000     B. Rs. 3,500  C. Rs. 4,200           D. Rs. 4,040 
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uhFy; 7.6.2006 md;W &.4>000 fldhfg; ngw;w mij 19.8.2006 md;W jpUk;g 
nrYj;jpdhh;. 5% tl;b fzf;fplg;gl;lhy; mth; nrYj;jpa njhif vt;tsT? 
A. Rs. 4,000     B. Rs. 3,500  C. Rs. 4,200           D. Rs. 4,040 

 

87. ABCD is a rectangle and ABE is a triangle whose vertex E lies on CD. If AB = 
5 cm and the area of the triangle is 10 sq.cm, then the perimeter of the 
rectangle is 
A. 14 cm   B. 15 cm  C. 18 cm               D. 20 cm 
ABCD vd;gJ xU nrt;tfk; kw;Wk; ABE vd;w Kf;Nfhzj;jpd; E vd;w cr;rp 
CD-y; cs;sJ. AB=5 nrkP kw;Wk; Kf;Nfhzj;jpd; gug;gsT 10 r.nr.kP vdpy; 
nrt;tfj;jpd; Rw;wsthdJ 
A. 14 cm   B. 15 cm  C. 18 cm               D. 20 cm 
 

88. H.C.F of two numbers is 12 and their difference is 12. Find the numbers. 
A. 66, 78  B. 70, 82  C. 94, 106   D. 84, 96 
,U vz;fspd; kP.ngh.t 12 mtw;wpd; tpj;jpahrk; 12. me;j vz;fisf; fhz;f 
A. 66, 78  B. 70, 82  C. 94, 106   D. 84, 96 

 
89. If the ratio of father's age to son's age is 4 : 1 and the product of their ages is 

196, then ratio of their ages after 5 years will be 
A. 3 : 1   B. 10 : 3  C. 11 : 4       D. 14 : 5 
je;ij kw;Wk; kfdpd; taJ tpfpjk; 4 : 1 NkYk; mth;fs; ,Uthpd; tajpd; 
ngUf;Fnjhif 196 vdpy; 5 tUlq;fSf;F gpd;dh; mth;fs; ,Uthpd; taJ 
tpfpjk; 
A. 3 : 1   B. 10 : 3  C. 11 : 4       D. 14 : 5 
 

90. Find the value of 501 x 505.                                    
A. 278005              B. 253005  C. 273005     D. 258005 
501 x 505 –d; kjpg;G fhz;f 
A. 278005              B. 253005  C. 273005     D. 258005 
 

91. The least number of square tiles required to pave a room of size 15 m 17 cm 
long and 9 m 2 cm broad is                                                 
A. 902           B. 656  C. 738                    D. 814 
15 kP 17 nr.kP ePsk; 9 kP 2 nr.kP mfyk; cila xU miwapy; Ntag;gl 
Ntz;ba kpff;Fiwe;j vz;zpf;ifapyhd rJu tpy;iyfs; vt;tsT? 
A. 902           B. 656  C. 738                    D. 814 
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92. Insert the missing number in the given series 

5, 10, 13, 26, 29, 58, 61, _____________ 
A. 122                 B. 64   C. 125                        D. 128 

 nfhLf;fg;gl;l njhlhpy; tpLgl;l vz;izf;f fhz;f 
5, 10, 13, 26, 29, 58, 61, _____________ 
A. 122                 B. 64   C. 125                        D. 128 

 
93. The L.C.M. of 1/3, 5/6, 2/9,   4/27 is 

A. 1/54    B. 10/27  C. 20/3        D. None of these 
1/3, 5/6, 2/9,   4/27-d; kP.ngh.k 
A. 1/54    B. 10/27  C. 20/3         D. vJTkpy;iy 
 

94. Which number should come in the place of the question mark? 

11 13 16 

5 4 3 

4 5 ? 

59 57 56 

A. 6    B. 4   C. 8               D. 7 
Nfs;tpf;Fwpapl;l ,lj;jpy; cs;s rhpahd vz; ahJ? 
 

11 13 16 

5 4 3 

4 5 ? 

59 57 56 

A. 6    B. 4   C. 8               D. 7 
 
95. An increase of 20% in the price of mangoes enables a person to purchase 4 

mangoes less for 40. The price of 15 mangoes before increase was. 
A. Rs. 10       B. Rs. 15  C. Rs. 20              D. Rs. 25 
khk;goj;jpd; tpiy 20% mjpfhpj;jhy; xUth; 40 &gha;f;F ehd;F khk;goq;fs; 
Fiwthfj;jhd; thq;f KbAk; vdpy;> tpiyNaw;wj;jpw;F Kd;dhy; 15 
khk;goq;fspd; tpiy vd;dthf ,Ue;jpUf;Fk;? 
A. Rs. 10       B. Rs. 15  C. Rs. 20              D. Rs. 25 
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96. The area of the largest triangle that can be inscribed in a semi-circle of radius 
4 cm is  
A. 16 cm2                 B. 32 cm2  C. 64 cm2          D. 128 cm2 

4 nr.kPl;liu Mukhff; nfhz;l miutl;lj;jpd; cs; mike;j kpfg;nghpa 
Kf;Nfhzj;jpd; gug;gsT 

A. 16 cm2                 B. 32 cm2  C. 64 cm2          D. 128 cm2 

 

97. The preposition ( )p q is equivalent is 

A. p q    B. p q   C. p q   D. p q  
( )p q  vd;w $w;Wf;F rkkhdJ 

A. p q    B. p q   C. p q   D. p q  
 

98. If 
2 1

1

x

x




=4 find the value of x 

A. 4  B. 5  C. 3  D. 1 
2 1

1

x

x




=4 vdpy; x-d; kjpg;G fhz;f 

A. 4  B. 5  C. 3  D. 1 
 
99. A can do a certain job in 12 days.  B is 60% more efficient than A. How many 

days does B alone take to do the same job? 
A. 6 ½ days           B. 6 days  C. 7 days               D. 7 ½ days 
A vd;gth; xU Ntiyia 12 ehl;fspy; Kbf;fpwhh; B vd;gth; A I tpl 60% 
tpiuthf Kbg;ghh; vdpy; mNj Ntiyia B jdpahf vj;jid ehl;fspy; 
Kbg;ghh;? 
A. 6 ½ ehl;fs;           B. 6 ehl;fs; C. 7 ehl;fs;               D. 7 ½ ehl;fs; 

 
 

100. Three men, four women and six children can complete a work in seven days. 
A women does double the work, a man does and a children does half the 
work of a man. How many women alone can complete this work in 7 days? 
A. 7      B. 8  C. cannot determined  D. none of these 
xU Ntiyia 3 Mz;fSk; 4 ngz;fSk; kw;Wk; 6 rpWth;fSk; Nrh;e;J 7 
ehl;fspy; nra;J Kbf;fpd;whh;fs;. xU ngz; Miz tpl ,Uklq;F 
nra;fpwhs;. xU rpWtd; Mzpd; ghjpNtiyia nra;fpwhh;fs;. me;j 
Ntiyia ngz;fs; kl;Lk; 7 ehs; nra;fpwhh;fs; vd;why;> vj;jid ngz;fs; 
me;j Ntiyia nra;thh;fs;? 
A. 7  B. 8  C. fz;lwpa ,ayhJ  D. vJTkpy;iy 


